Multiplier par des puissances de dix ( nombre

manquant )
Nom Date: Note:

6.944 x = 69.44 8.551 X = 85.51

5.642 x = 5642 7.741 X = 7741

5.262 x = 5262 5.042 x = 504.2

2.529 x =252.9 3.374 x = 33.74

54 x 54 6.756 X =675.6

6.827 X = 6827 2.885 % = 28.85

4.011 x =40.11 6.369 X = 63.69

1.408 X = 14.08 1.716 x =17.16

4.512 % =45.12 4332 x =43.32

9.509 x =950.9 10.458 % = 104.58
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Multiplier par des puissances de dix ( nombre
manquant )

6.944 x 10 = 69.44

5.642 x 1000 = 5642

5.262 x 1000 = 5262

2.529 x 100 = 252.9

54x10=54

6.827 x 1000 = 6827

4.011 x 10 =40.11

1.408 x 10 = 14.08

4512 x 10 = 45.12

9.509 x 100 = 950.9

Date: Note:

8.551 x 10 = 85.51

7.741 x 1000 = 7741

5.042 x 100 = 504.2

3.374 x 10 = 33.74

6.756 x 100 = 675.6

2.885 x 10 = 28.85

6.369 x 10 = 63.69

1.716 x 10 = 17.16

4.332 x 10 =43.32

10.458 x 10 = 104.58
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